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WUms: Jata: ___ Ouenka:___
0,36 x 30% = 9,43 x 50% =
5,79 x 10% = 8,59 x 80% =
2,78 x 80% = 7,27 x 40% =
0,31 x40% = 7,54 x30% =
0,22 x 30% = 0,23 x 70% =
7,12 x 80% = 3,09 x 80% =
5,51 x10% = 5,01 x40% =
7,46 x 30% = 3,27 x 20% =
4,88 x 50% = 6, 18 x 70% =
4,95 x 20% = 4,36 x 80% =
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Beruncnuts MMPOUCHTHI ACCATUYHBIX 3HAKOB

Nwms:

0,36 x 30% = 0.108

5,79 x10% = 0.579

2,78 x 80% = 2.224

0,31 x40% = 0.124

0,22 x 30% = 0.066

7,12 x 80% = 5.696

5,51 x10% = 0.551

7,46 x 30% = 2.238

4,88 x 50% = 2.44

4,95 x 20% = 0.99

[ara:

9,43 x 50% = 4.715

8,59 x 80% = 6.872

7,27 % 40% = 2.908

7,54 x 30% = 2.262

0,23 x70% = 0.161

3,09 x 80% = 2.472

5,01 x40% = 2.004

3,27 x20% = 0.654

6, 18 x 70% = 4.326

4,36 x 80% = 3.488
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Orenka:
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